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Attempt any two questions.
All guestions carryv equal marks.
Answer may be written either in English or Hindi
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Q1) (a) Construct a grouped frequency table of the number of primes from | to 100
taking thez class size [0.

{b) If a number is chosen at random from the set of prime numbers between 1 and
100, what is the probability that it lies between 30 and 100.

(c) A regular icosahedron consists of twenty faces in shape of equilateral triangles
{I1ig).

A die is made in the shape of a regular icoahedron. The die has faces marked with the
numbers 21 to 40 . [f the diz is thrown 100 times, how many times is it expected to
land on & face that has 2 prime number? {4 + 3 + 3 marks)
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'Q2) Here is an extract of a news item reported in a newspaper:

s Majority of youngsters spend 1/10 of their day on social networking sites.

« Facebook is the most frequently used social networking site.

e People use social networking sites for sharing information and to meet old
friends.

e  WhatsApp is another preferred mobile application used to share information.

Devise a detailed data collection plan 1o verify these statements using students of your
college as sample. (10 marks)
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Q3) Comment on the validity of tne fellowing statements:

(a) The probability of meeting with an accident while crossing the road is 0.5 because
either one will cross the road safety or one will meet with an accident.



(b) A person who does not know swimming and is of height 5 feet should be able to
cross a river whose average depth is 4 feet.

(c) On a traffic light signal, it remains red for 150 sec. , green for 60 sec. and orange
for 10 sec. So if you reach a traffic signal you wil! always encounter a red light.
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Q4) A school displayed the marks scored by 100 students of grade XIi in three
different ways:

Representation 1:
| Grade A + 05
Grade A 15
Grade A- i0
(rade B+ 28
[ Grade B 22
Grade B- 16

Grade C and below | 04
Representation 2:

Below 40 04
' 40-50 16 o
30-60 22
60-70 28
70-80 10
80-90 15

Ln

90-100 0




Représemation 3: se

-

Out of 100 students, 20% of students scored 80% and more; 58% scored first division
(60% and more); only 22% scored 2 division (between 50% -60%) and remaining
scored below 2™ division.

Represent the above information using three different graphical/ piciorial
representations. Justify vour choice of graph. {3 + 3+ 4 marks)
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O ) Two teams A andt 3 have played four cricket matehes in the year 2010, 2011,

242 ane 2013, The resulis were as follows

“THGT0 | 2011 | 2
A Won | Tie

B Lost | tie

Ihe teams will play against cach other again in 2014 Which tcam has a betier chance

ol winning? Justify your answer.
{by Team A has to scleet one vut O
performance in {he matches played against Team B.
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f the three batsmen who have the folfowing

and why?
(5+5 mitrks)
11, 2012 3T 2013 & 4 fFke AT AN E

According to you. which batsman should be chosen to piay in 2014
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